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I1.
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yFEE 8 yae € € 35 ¢
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(C) Az (D) A&
W3, Sommeatas:
(A) &= (B) femm=
(C) fafanm . (D) UssTT
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(A) fafanm (B) Ahprrerge feims
(C) F=-Tod ferms (D) Fua
frm = (& fafan & aan 3, On$ &t afde s :
(A) midana Tafamr (B) AINT fafamm
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12.

13.

‘UEt-yEt J@ Hoed ST I I
(A) IS &% IT 77T

(C) UUz B

BT Ho<ar §< :

(A) 85 € vy figsr It

(C) €5 © Ho wigr S=

(B) maefifent ger
(D) Ja-ga Ifg Arar

(B) €& ¥ Wy fug-rsg
(D) €5 € ¥ wa w@er

Directions for Question Nos. 14 to 18 : Choose the correct sentence, out of the four cheices

given, in each question.

14.

15.

16.

17.

18.

(A) Here comes the bus!

(C) Comes here the bus!

(A) This is boy that I told you of.

(C) This is a boy which I told you of.
(A) The presents are for yours and mine.

(C) The presents are for you and me.

(A) My uncle asked my brother and I for dinner.

(B) Mine uncle asked brother and I for dinner.

(B) The bus here comes!

(D) Here the bus comes!

(B) This is the boy that I told you of.
(D) This is the boy which I told you of.
(B) The presents are for me and yours.
(D) The presents are for you and L.

(C) My uncle asked I and mine brother for dinner.

(D) My uncle asked my brother and me for dinner.

(A) It is an ill wind that blows nobody good.
(C) This has been ill wind who blows nobody

good.

(B) Thisisill wind which will blow nobody good.
(D) This is an illness of a wind that blows nobody

good.

Directions for Question Nos. 19 to 22 : Choose the correct word, out of the four given choices in each

question, that conveys the meaning of the given expression.

19.

20.

21,

22.

Principles of teaching :
(A) Obstetrics

(C) Taxidermy

Under the skin :

(A) Hyperdermic

(C) Hypodermic

Stirring up discontent among the masses :

' (A) Democracy

(C) Oligarchy

Interested in the welfare of others :
(A) Altruistic

(C) Progressive
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(B) Pedagogy
(D) Demagoguery

(B) Dermatitis
(D) Pachyderm

(B) Mobocracy
(D) Demagoguery

(B) Extrovert
(D) Visionary



Directions for Question Nos. 23 to 25 : Choose the correct preposition to be filled up in the gap in

each question.

23. Sachin is sanguine ______ success.
(A)in - (B) of
(C) at (D) for
24. His antipathy ____ dogs is well known.
(A) for (B) on
(C) to : (D) with
25. Satish is heedless consequences.
(A) at (B) with
(C) for (D) of
26. Which of the following is not nose ornament :
(A) nath (B) laung
(C) phuli (D) phumni

27. Which is the correct statement :
(A) Punjab has 13 Lok Sabha, 7 Rajya Sabha, 117 bicameral Legislative seats.
(B) Punjab has 13 Rajya Sabha, 7 Lok Sabha, 117 unicameral Legislative seats.
(C) Punjab has 13 Lok Sabha, 7 Rajya Sabha, 121 Legislative seats.
(D) Punjab has 13 Lok Sabha, 7 Rajya Sabha, 117 unicameral Legislative seats.
28. On the basis of census 2011, (find the correct statements).
i) Sex ratio in Punjab is 940
ii) Literacy rate in Punjab is 76.68%
iii) Urbanization ratio in Punjab is 29.55%

| iv) Area under forest in Punjab is 20.64%

29.

(A) 1,iiand iii

Match the following :
Guru

1. Guru Angad Dev Ji

2. Guru Amar Das Ji

3. Guru Teg Bahadur Ji

4. Guru Arjlém Dev Ji

(A) 1a,2b, 3¢, 4d

(C) Ic, 24, 3d, 4b

(B) iiand iii

(D) i, ifiand iv

Wife
a. Mata Mansa Devi Ji
b. Bibi Ganga Devi Ji
¢. Bibi Khivi ji
d. Mata Gujri Ji
(B) 1c, 2a, 3b, 4d
(D) 1c, 24, 3b, 4a



30.

31

32.

33.

34.

35.

36.

37.

38.

Arrange the following districts of Punjab in descending order on the basis of literacy rate in

2001.

1) Hoshiarpur ii) Roopnagar

i) Jalandhar 1v) Mansa

(A) 1 ii1, iv, it (B) i, ii, iii, iv

(C) i.iv,dil, 11 (D) 1v,iii, ii, 1

Ludhiana is called Manchester of India because of :

{A) higher density of population (B) industrialization

(C) best Infrastructure (D) Punjab Agricultural University
In Punjab three civil aviation clubs are at :

(A) Ludhiana, Sangrur, Patjala (B) Amritsar, Gurdaspur, Phillaur
(C) Ludhiana, Patiala, Amritsar (D) Phillaur, Ludhiana, Patiala
‘Akhar 2010’ is :

(A) bilingual Punjabi English Word Processor

(B) programme to preserve Punjabi as a language at international arena
(C) mission to promote Punjabi as 2" language in North India

(D) seminar held to honour various personalities of Punjabi Literature
India’s first Solar Power Plant is coming up at :

(A) Roopnagar (B) Jalandhar

(C) Bhatinda (D) Amritsar

The first Punjabi Poet used the symbol of human relationship between wife and husband to

express his longing for union with divine :

(A) Sheikh Farid-ud-din (B) Bulle Shah
(C) Sultan Bahu (D) Baba farid
The atmosphere is divided into homosphere and hetrosphere. The homosphere extends upto
the height of :

(A) 18 kms (B) 90 kms

(C) 8 kms (D) 300 kms
The French Revolution gave rise to the theory of :

(A) Communism (B) Nationalism
(C) Democracy (D) Socialism
The Head Quarters of ILO is located at :

(A) Geneva (B) The Hague
(C) New York (D) Rome
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39.

40.

41.

42,

43.

45.

46.

47.

48.

Oldest book composed among the following was :

(A) Mahabharata (B) Rigveda

(C) Artharveda (D) Upanishads
The instrument used to measure electric resistance :

{A) Ohmmeter (B) Electrometer
(C) Galvanometer (D) Spectrometer

Which of the following helps in clotting of blood :

(A) Vitamin B, (B) Vitamin B,
(C) Vitamin D (D) Vitamin K
The Ajanta Caves were built during the period of :

(A) Guptas : (B) Kushans
(C) Mauryas : (D) Chalukyas
Fundamental rights are enshrined in Constitution of India in :
(A) Part I (B) Part Il

(C) Part IV (D) Part V
India’s first talkie film produced in 1931 was :

(A) Neel Kamal (B) Indra Sabha
(C) Alam Ara (D) Shankutla

What is the most important geographic use of Himalayas to India ?

(A) Prevention of invasion (B) Valuable source of timber

(C) Protect India from icy cold north winds (D) Prevent the monsoons from ‘crossing to the
north and also serve as a reservoir of water
from which our perennial rivers flow

Currency notes and coins of one rupee and lower denominations are issued by :

(A) RBI ‘ (B) SBI

{C) Ministry of Finance (D) Ministry of Home

The supreme command of the defence forces is vested with the :

(A) Field Marshal (B) Commander-in-Chief

(C) Prime Minister (D) President

An ancient site which consists of 7 caves faméus for the Trimurti and other sculptures is :
(A) Ajanta Caves (B) Ellora Caves

(C) Ellephanta Caves (D) None of these
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49.

50.

51.

52.

53.

54.

5s.

56.

57.

In which of the following fields, a Nobel Prize is not there ?

(A) Physics (B) Chemistry
(C) Literature (D) Music

Dr. Binayak Sen, a civil rights activist, is

(A) pediatrician (B) surgeon
(C) neurologist (D) cardiologist

Find the missing term
625, 5, 125, 25,25,2,5

(A) 5 (B) 25

(C) 125 (D) 625
Kindle is related to Burn as Angrv is related to .............. ?
(A) annoyed (B) determined
(C) resentful (D) furious
Choose the odd one : '

i) coarse ii) unrefined
ii1) vulgar iv) oafish

v) blunt

(A) 1 (B) i

(C) iv D) v

If in 2 certain code, LUTE is written as MUTE and FATE is written as GATE, then how will
BLUE be written :
(A) CLUE (B) GLUE
(C) FLUE (D) SLUE
if ‘air’ is called ‘green’, ‘green’ is called ‘blue’, ‘blue’ is called ‘sky’, ‘sky’ is called ‘yellow’,
‘yellow’ is called ‘water’ and ‘water’ is called ‘pink’, then what is the colour of clear sky?
(A) Blue (B) Sky
(C) Yellow ‘ (D) Pink
Pointing to Kapil, Shilpa said, “His mother’s brother is the father of my son Abhishek”. How
is Kapil related to Shilpa?
(A) Brother-in-law (B) Uncle
(C) Nephew (D) Brother
In 2 joint family, there are father, mother, 3 married sons and one unmarried daughter. Of
the sons, two have 2 daughters each and one has a son. How many females members are
there in the family.
(A) 2 B)3
(C) 6 D)%
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Instructions for Question Nos. 58 to 59 : Study the following information and answer.

58.

59,

60.

61.

62.

63.

(i) Kailash, Govind and Harinder are intelligent
(i) Kailash, Rajesh and Jitendra are hard working
(iii) Rajesh, Harinder and Jitendra are honest

(iv) Kailash, Govind and Jitendra are ambitious

Which of the following is neither hard working nor ambitious

(A) Kailash (B) Govind

(C) Harinder (D) Rajesh

Which of the following is neither honest nor hard working but ambitious
(A) Kailash (B) Govind

(C) Rajesh (D) Harinder

In a cricket season, India defeated Australia twice, West Indies defeated India twice, Australia
defeated West Indies twice, India defeated New Zealand twice. Which country has lost most

number of times?
(A) India (B) Australia
(C) New Zealand (D) West Indies

Study following sequence and answer the question :
ETGBDM4ANKH2ACZSV3IFIJLOQSPR

If every alternative letter/number is dropped starting (dropping) with E, then which letter
will be the second to the left of the tenth letter/mumber from the left?

(A) A (B)F

C)S DV

In a row of 40 children, P is 13" from the left and Q is 9th from the right end. How many
children are between P and R if R is 4t! to the left of Q?

(A) 12 (B) 13

(C) 14 (D) 15

The train for Lucknow leaves every 2 ¥ hours from New Delhi. An announcement was made
at the station that the train for Lucknow had left 40 minutes ago and next train will leave at
18.00 hrs. At what time the announcement was made?

(A) 17.10 hrs. (B) 15.10 hrs.

(C) 16.00 hrs.. (D) None of these
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64.

65.

66.

67.

68.

69.

70.

If ‘when’ means ‘X’, ‘you’ means ‘=’, ‘come’ means ‘-’ and ‘will’ means “+’ then what will be
the value of “8 when 12 will 16 you 2 come 107?

(A) 45 (B) %94
(C) 96 (D) 112
Arrange the following in meaningful sequence

1 Patient 2 Diagnosis 3 Bill 4 Doctor 5 Treatment 6 Recovery

(A) 1.4,2,3,6,5 (B) 1.4,3.2,5.6
(C) 1.4,2,5,3,6 (D) 4,1,23,5,6
Sanjay is Sarita’s brother. “I have as many sisters as brothers.”, tells Sarita to her friend.

Sanjay says, “Each of us has only half as many brothers as sisters.” How many brothers and

sisters does the family has.

(A) 4 sisters 5 brothers (B) 5 sisters 3 brothers
(C) 3 sisters 4 brothers (D) 4 sisters 3 brothers
Statement : We must be prepared to meet any eventuality and all the assignments must be

completed as per their schedule, Principal tells the teachers.
Inferences : (i) There is possibility of an eventuality
(ii) Dates are fixed for all assignments

(iii) Teachers are supposed to complete all assignments

(A) All inferences are true {B) No inference is true
(C) 1 & ii only are true (D) only 11 & iii are true
Two trains are running at the speeds 30 km/hr and 58 km/hr in the same direction. The

engine of faster train crosses the slower train in 18 seconds. The i:ngth of slower train (in
meters) is :

(A) 70 (B) 140

(C) 100 (D) 128

A square muitiplex is being planned with 14 pillars along each side at equal distance. How

many pillar (minimum) shall be required in all the four sides

(A) 52 7 (B) 54
(©) 56 (D) 50
Acomputer professional has the potential of thinking 100 lines of code in 5 minutes and capacity

to type 100 lines of code in 10 minutes. He has the habit of taking break for 5 minutes after
every 10 minutes. How many lines of code will he complete typing after one hour.
(A) 150 (B) 200 '

(C) 250 (D) 300
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71.

72.

73.

74.

75.

76.

77.

78.

Six bells commence tolling together and toll at the interval of 2,4,6,8,10, 12 seconds respectively.
In 30 minutes, how many times do they toll together?

(A) 4 (B) 10
(C) 15 (D) 16
3 y-x .
If 1.5x = 0.04y, then the value of [ v+ xJ is
730 - LE;
(A) == ®) —
7.3 73
© 3 (D) 725

A number of friends going to picnic planped to spend Rs. 96 on eatables but 4 of them did not
turn up and remaining ones had to spend Rs. 4 each extra. The numbers of those who went
on picnic was :

(A)8 (B) 12

(C) 16 D) 24

A General wishes to draw up his 36581 scldiers in a solid square. After arranging them, he
found some of them left over. How many are left?

(A) 65 (B) 81

(C) 100 (D) 1000
Of three numbers, the first is twice the second and the second is twice the third. The average

of the l. The numbers are :

72
(A) 16,84 (B) 20,10,5
(C) 24,12.6 (D) 36,18.9

54 is to be divided into 2 parts such that the sum of 10 times first and 22 times of second part
is 780. Find the bigger part.

(A) 24 (B) 34

(C) 30 (D) 32

Father is aged 3 times more than the age of his son Ronit. After 8 years, he would be 2 ! times
the Ronit’s age. After 16 years, how many times would he be of Ronit’s age?

(A) 2 | (B) 2%

(C) 2% (D) 12

A man bought a house for Rs. 5 lakhs & rents it out. He puts 1242% of each months rent aside
for repairs, pays Rs. 1660 as annual taxes and realizes 10% of his investment every year. The
monthly rent of the house is : |

(A) Rs. 2460/- (B) Rs. 3000/-

(C) Rs. 4920/- (D) Rs. 3200/-
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79.

80.

81.

82.

83.

84.

85.

36.

The cost price of an article is 64% of the marked price. Calculate the gain in percent after
allowing a discount of 12%

(A) 48% (B) 50.5%

(C) 52% (D) 37.5%

A and B started a new business. A’s investment was thrice the investment of B and the period
of his investment was two times the period of investment of AB. If B received Rs. 4000/-
profit, then their total profit is :

(A) Rs. 16000/- (B) Rs. 20000/-

(C) Rs. 24000/- ' (D) RS. 28000/-

A & B can do a work in 45 days and 40 days respectively. They began.to do the work together
but ‘A’ leaves after some days and then ‘B’ completed the remaining work in 23 days. Find
the number of days after which ‘A’ left the work.

(A) 6 (B) 8

)9 D) 12

A man takes 5 hrs 45 minutes in walking to a certain place and then riding back. He would
have gained 2 hrs by riding both ways. The time he would take to walk both ways is :

(A) 3 hrs 45 min. (B) 11 hrs 45 min.

(C) 7 hrs 45 min. (D) 9 hrs 45 min.

The difference between the simple interest on a certain sum at the rate of 16% per annum for
2 years and compound interest which is compounded every 6 months is Rs.124.05. What is
the principle sum :

(A) Rs. 6000/- (B) Rs. 8000/-

(C) Rs. 10000/- (D) Rs. 12000/-

What will be the length of diagonal of that square plot whose area is equal to the area of 2

rectangular plot of length 45 meters & breadth 40 metres.

(A) 42.5 metres ' (B) 60 metres

(C) 75 metres (D) data is inadequate

How many days are there in x weeks and x days :

(A) 7x2 (B) 8x

(C) 14x (D) 7x

A would help provide the information a sales manager needs to determine how

high to set yearly sales quotﬁs based on increased sales and lowered production costs.
(A) transaction processing system (TPS) (B) decision support system (DSS)
(C) management information system (MIS) (D) office information system (OIS}

VIIAY10



87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

Which category of computer-based information systems are concerned with improving
efficiency by applying information technology to commen administrative tasks, such as
creating business documents?

(A). Expert systems. (B) Business information systems.

(C) Strategic information systems. (D) Office automation systems.

Office automation is a process that involves :

(A) people, paper and procedure | (B) people, procedure and technology

(C) man, machine and management (D) people, procedure and production.

You can select the current row in MS-Excel Worksheet by pressing :

(A) Ctrl + Space bar (B) F8 + arrow key
(C) Shift + arrow key _ (D) Shift + Space bar
The shortcut key for pasting copied contents in a document in Microsoft Office is :
(A) Ctrl + S ‘ (C) Cul+C

(B) Ctrl + A (D) Crl +V

Which is the default file extension for MS-Power Point 2007 files :
(A) doc (B) docx

(C) pptx (D) rtf

The Shortcut key to align document from both sides left and right te the margins is :
(A) Ctl+B (B) Alt+1J

(C) Cul +1] (D)FN+B

Selecting text means, selecting :

(A) A word (B) A complete line
(C) An entire sentence (D) Any of the above
Using Find command in Word, we can search :

(A) Characters (B) Whole Word

(C) Symbols (D) All of the above
The shortcut Kkey to get help from office assistant is :

(A)F1 (B) F7

(C) F2 (D) F10 .

To quickly print a file, press :

(A) Control P (B) Control S

(C) Control N (D) Control Z
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97. MS-PowerPoint is useful for :

98.

(A) Writing Documents (B) Preparing presentations
(C) Writing memos (D) Making charts and analyzing number
Getting data from a cell located in a different sheet is called :
(A) Accessing (B) Referencing
(C) Updating (D) Functioning
99. Find and Replace utility is available in :

(A) MS-Word ' (B) MS-Excel
(C) MS-PowerPoint (D) All of the above

100. Which of the following is not an automation tool?
(A) Operating System (B) ERP Tools
(C) CRM Tools (D) SCM tools
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